Design dispersion corrected emittance calculation

& =y * (o0, 1, *Sprus ) By

=7*(00y | B,)+7* 1y * S gaus ) B,

= Eon + 7 * (1) * Sgrus ) B,

design dispersion corrected emit(s,,) = &, — 7 * (1, * S jaus )/ B,

| am obtaining these guantities at the BPMs in following way (after tracking):

€n . Ny from [S,nx,ny,nt] = GetNEmitFromBPMData( instdata{l} )

Ny, By from Twiss functions
[stat,T] = GetTwiss(1, length(BEAMLINE), Initial . x.Twiss, Initial.y._Twiss)

yy(1) From instdata{l}(i).P/0.000511

As for dyrms , | am doing
dyrmvs(i)=sqrt(instdata{1}(i).sigma(6,6))/instdata{1}(i).P
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